1071

=
<

~
=
D
=
Q
o
O
=
o]

(0 @) (rad)

1072

9105% A .! L b ..! ........! L inn 1053 ——ds .! N ..!

10

Ratl

iy
TTTT T T

[y
TTTT] T T

0.95 : : : 0.95 :
-1 2 3 -1

10 1 TPl[g)T (PCA t%obeamlinélf) 10 1

—=— DQM_V0001_R0O00000001__Global_CMSSW_mKIt5017_RECO

—— DQM_V0001_R000000001__Global__CMSSW_mktt50i8_RECO
—— DQM_V0001_R000000001__Global__CMSSW_mktt50i9_RECO

= T —~
= : €
5 Foeennes P T . 3]
= . =
~, : ~
X + . . O
3 - " B 1'. """""" Il
o H =2
5 ' ©

19—t o .! L .....! ........! T [ v E——— .! L ..!

[y
TTTT] T
e
+
i
iy
TTTT] T

1071 1 1071 1

=

o p/p.)

0.95 5 5 :
2 3
TPl[:g)T (PCA t%)obeamlin%)o



	Contents
	Page 1


